1) Let X ~ Uniform{1,2,3}.Let (Y | X =1) ~ Exp(1),(Y | X =2) ~ Exp(2)and (Y | X = 3) ~ Exp(3).
___ Find the distribution of Y.
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2) et X ~ Binomial (2, —).Let (Y | X =0) ~ Normal(0,1),(Y | X =1) ~ Normal(1,4)and (Y | X =

| 2
2) ~ Normal(2 9) Choose the correct option(s) from the following:
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_3) Let X ~ Bernoulli(0.5). Let (Y | X =0) ~ Exp(2) and (Y | X = 1) ~ Normal(0, 1). Choose the correct
option(s) from the following:
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LetY = XZ, X ~ Uniform{—1,0,1} and Z ~ Normal(1, 2), where X and Z are independent.

4) Choose the correct option(s) from the following:

Y | X =1) ~ Normal(1,2)

Y | X =—1) ~ Normal(—1,2)
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O (Y| X = —1) ~ Normal(—1, —2)
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Y | X =1) ~ Normal(1, —2)




